

A Generalization of NTHK-PELL Sequence and their Identities

Dr. Rajesh Vyas Kasturba¹ | Dr. Manjeet Singh Teeth² | Ms. Neelam Dawar^{3*}

¹Gram Rural Institute, Indore, India.

²Christian Eminent College, Indore, India.

³Department of Mathematics, Devi Ahilya Vishwavidhyalya Indore, India.

*Corresponding Author: dawarneelam@gmail.com

Citation: Kasturba, R., Teeth, M. & Dawar, N. (2026). A Generalization of NTHK-PELL Sequence and their Identities. International Journal of Global Research Innovations & Technology, 04(03), 23–28.

ABSTRACT

In this paper, We introduced the Generalized n^{th} -k-Pell Sequence $\{g_{k,n}\}_{n \in \mathbb{N}}$ by changing the initial conditions. We obtain the Binet's formulas and Generating functions and some identities for this Sequence. In addition, we derive some sum formulas, using the Binet's formula of Generalized n^{th} -k-Pell Sequence.

Keywords: k-Fibonacci Sequence, k-Lucas Sequence, k-Pell Sequence, k-Pell Lucas Sequences.

2020 Mathematics Subject Classification: 11B39, 11B83, 11B37, 20G20, 05A15.

Introduction

The n^{th} Fibonacci sequence $\{F_n\}_{n \in \mathbb{N}}$ is defined by $F_0 = 0, F_1 = 1$ and $F_n = F_{n-1} + F_{n-2}$, $n \geq 2$ and n^{th} Lucas Sequence $\{L_n\}_{n \in \mathbb{N}}$ is defined by $L_0 = 2, L_1 = 1$ and $L_n = L_{n-1} + L_{n-2}$, $n \geq 2$ [17]. Many authors have generalized the Fibonacci sequence by changing the initial conditions or changing the recurrence relations somewhat. Example of such variations include the Generalized Fibonacci sequence, Jacobsthal sequence, Tribonacci sequence, Pell, Pell-Lucas, Modified Pell Sequences (see [3, 4, 11]). The Pell Sequence $\{P_n\}_{n \in \mathbb{N}}$ is defined by $P_n = 2P_{n-1} + P_{n-2}$, $n \geq 2$ with initial terms $P_0 = 2, P_1 = 1$ and if we change the values of the initial terms $PL_0 = 2, PL_1 = 2$ and $q_0 = 1, q_1 = 1$ they are called the Pell-Lucas and Modified Pell Sequences, respectively. Binet's formula for the Pell Sequence $\{P_n\}_{n \in \mathbb{N}}$ and Pell-Lucas numbers $\{PL_n\}_{n \in \mathbb{N}}$ are [18].

$$P_n = \frac{\alpha^n - \beta^n}{\alpha - \beta}$$

$$\text{and } PL_n = \alpha^n + \beta^n$$

respectively, where $\alpha = 1 + \sqrt{2}, \beta = 1 - \sqrt{2}$ are the roots of the characteristic equation $x^2 - 2x - 1 = 0$ and Also, we obtain that $\alpha + \beta = 2, \alpha - \beta = 2\sqrt{2}, \alpha\beta = -1$.

Preliminaries

Falcon and Plaza [14] introduced the k-Fibonacci Sequence, which is one of the generalizations of the Fibonacci sequence. The n^{th} -k-Fibonacci Sequence $\{F_{k,n}\}_{n \in \mathbb{N}}$ for any positive real number k , is defined by

$$F_{k,n} = kF_{k,n-1} + F_{k,n-2}, F_{k,0} = 0, F_{k,1} = 1, n \geq 2 \quad (1)$$

then n^{th} -k-Lucas Sequence $\{L_{k,n}\}_{n \in \mathbb{N}}$ for any positive real number k , is defined by

$$L_{k,n} = kL_{k,n-1} + L_{k,n-2}, L_{k,0} = 2, L_{k,1} = k, n \geq 2 \quad (2)$$

Catarino [6] defined k-Pell sequence by the recurrence relation: The n^{th} -k-Pell Sequence $\{P_n\}_{n \in \mathbb{N}}$ for any positive real number k , is defined by

$$P_{k,n} = 2P_{k,n-1} + kP_{k,n-2}, P_{k,0} = 0, P_{k,1} = 1, n \geq 2 \quad (3)$$

Binet's formula for the n^{th} k-Pell Sequence is [6]

$$P_{k,r} = \frac{r_1^n - r_2^n}{r_1 - r_2} \quad (4)$$

Where $r_1 = 1 + \sqrt{1+k}$, $r_2 = 1 - \sqrt{1+k}$ are the roots of the characteristic equation $x^2 - 2x - k = 0$.

Also, the k-Pell Lucas $\{Q_n\}_{n \in \mathbb{N}}$ and Modified k-Pell $\{q_n\}_{n \in \mathbb{N}, n \geq 2}$ sequence are defined by: $Q_{k,n} = 2Q_{k,n-1} + kQ_{k,n-2}$, $Q_{k,0} = 2$, $Q_{k,1} = 2$,

and

$$q_{k,n} = 2q_{k,n-1} + kq_{k,n-2}, q_{k,0} = 1, q_{k,1} = 1 \quad n \geq 2.$$

respectively. For more detail about these sequences see works of Catarino and Vasco [6–8].

In this paper, we introduced the Generalized n^{th} k-Pell Sequence by changing the initial conditions. Also, we obtain the Binet's formulas and Generating functions and some identities for this Sequence. In addition, we derive some sum formulas, using the Binet's formula of Generalized n^{th} k-Pell Sequence.

the Generalized n^{th} k-pell Sequence

In this section, we introduced the Generalized n^{th} k-Pell Sequence $\{g_{k,n}\}_{n \in \mathbb{N}}$. For this Sequence, we derive the Binet's formulas, Generating functions and certain identities.

Definition 3.1. For $k \geq 1$, $n \geq 0$, the Generalized n^{th} k-Pell sequence $\{g_{k,n}\}_{n \in \mathbb{N}}$ is defined recurrently by

$$g_{k,n} = 2g_{k,n-1} + kg_{k,n-2}, \quad g_{k,0} = 2, g_{k,1} = k - 1 \quad n \geq 2 \quad (5)$$

Here, the initial conditions of the k -Fibonacci sequence and k -Lucas sequence are subtracted to from $g_{k,0}$ and $g_{k,1}$ respectively. $g_{k,0} = L_{k,0} - F_{k,0} = 2$, $g_{k,1} = L_{k,1} - F_{k,1} = k - 1$. The few terms of the Sequence $g_{k,n}$ are

$$2, k-1, 4k-2, k^2+7k-4, 6k^2+12k-8, \dots$$

The explicit formula for the n^{th} term of the Generalized k -Pell sequence is now found: Consider the characteristic equation associated with the recurrence relation (5),

$$x^2 - 2x - k = 0 \quad (6)$$

With two distinct roots α and β of the equation (6) are $\alpha = 1 + \sqrt{1+k}$, $\beta = 1 - \sqrt{1+k}$, $k \geq 1$. Since $\sqrt{1+k} > 1$ then $\beta < 0$ so, $\beta < 0 < \alpha$. Note that since $k \geq 1$ then $\alpha + \beta = 2$, $\alpha - \beta = 2\sqrt{1+k}$, $\alpha\beta = -k$.

Theorem 3.1 The Binet's formula for the generalized n^{th} k-Pell Sequence $g_{k,n}$ is as follows:

$$g_{k,n} = \frac{\alpha^n(k-2\beta-1)}{\alpha-\beta} - \frac{\beta^n(k-2\alpha-1)}{\alpha-\beta} \quad (7)$$

Where α, β are the roots of (6).

Proof. The $\alpha = 1 + \sqrt{1+k}$ and $\beta = 1 - \sqrt{1+k}$ are the roots of equation (6), the sequence $g_{k,n} = C_1\alpha^n + C_2\beta^n$ (8)

is the solution of the equation (5). We derive the distinct values $C_1 = \frac{(k-2\beta-1)}{\alpha-\beta}$ and $C_2 = \frac{(k-2\alpha-1)}{\alpha-\beta}$ by giving n the values $n = 0$ and $n = 1$ and solving this system of linear equations, Now using equation (8), we obtain

$$g_{k,n} = \frac{\alpha^n(k-2\beta-1)}{\alpha-\beta} - \frac{\beta^n(k-2\alpha-1)}{\alpha-\beta}.$$

Theorem 3.2 The Generating functions for the generalized n^{th} k-Pell Sequence is as follows:

$$G(x) = \sum_{n=0}^{\infty} g_{k,n}x^n = \frac{2+kx-5x}{1-2x-kx^2} \quad (9)$$

Proof. The Generating function $G(x)$ is defined as follow:

$$G(x) = \sum_{n=0}^{\infty} g_{k,n} x^n = g_{k,0} + g_{k,1}x + g_{k,2}x^2 + g_{k,3}x^3 + \dots + g_{k,n} + \dots$$

Using the initial conditions, we get

$$\begin{aligned} G(x) &= 2 + (k-1)x + \sum_{n=2}^{\infty} g_{k,n} x^n \\ &= 2 + (k-1)x + 2 \sum_{n=2}^{\infty} g_{k,n-1} x^n + k \sum_{n=2}^{\infty} g_{k,n-2} x^n \\ &= 2 + kx - 5x + 2x \sum_{n=0}^{\infty} g_{k,n} x^n + kx^2 \sum_{n=0}^{\infty} g_{k,n} x^n \end{aligned}$$

$$G(x)(1 - 2x - kx^2) = 2 + kx - 5x$$

and hence the Generalized n^{th} - k -Pell Sequence's Generating function can be expressed as

$$G(x) = \sum_{n=0}^{\infty} g_{k,n} x^n = \frac{2+kx-5x}{1-2x-kx^2}$$

Theorem 3.3. (Catalan's identity). Let $g_{k,n}$ be the Generalized n^{th} - k -Pell Sequence for $n \geq 1$, we get

$$g_{k,n-r} g_{k,n+r} - g_{k,n}^2 = (-1)^{n-r+1} k^{n-r} P_{k,r}^2 [k^2 - 10k + 5]$$

Where $P_{k,r}$ is k -Pell Sequence.

Proof. Applying $\alpha\beta = -k$ and Binet's formula (7)

$$\begin{aligned} g_{k,n-r} g_{k,n+r} - g_{k,n}^2 &= \frac{[\alpha^{n-r}(k-2\beta-1) - \beta^{n-r}(k-2\alpha-1)][\alpha^{n+r}(k-2\beta-1) - \beta^{n+r}(k-2\alpha-1)] - [\alpha^n(k-2\beta-1) - \beta^n(k-2\alpha-1)]^2}{(\alpha-\beta)^2} \\ &= \frac{(k-2\beta-1)(k-2\alpha-1)}{(\alpha-\beta)^2} [2\alpha^n \beta^n - \alpha^{n-r} \beta^{n+r} - \alpha^{n+r} \beta^{n-r}] \\ &= (-1)^{n-r+1} k^{n-r} [k^2 - 10k + 5] \frac{\alpha^n - \beta^n}{\alpha - \beta} \\ &= (-1)^{n-r+1} k^{n-r} [k^2 - 10k + 5] P_{k,r}^2 \end{aligned}$$

Using (4) the Binet's formula of k -Pell Sequence.

Theorem 3.4 (Cassini's identity). Let $g_{k,n}$ be the Generalized n^{th} - k -Pell Sequence for $n \geq 1$, we get

$$g_{k,n-1} g_{k,n+1} - g_{k,n}^2 = (-1)^n k^{n-1} [k^2 - 10k + 5]$$

Where $P_{k,r}$ is k -Pell Sequence.

Proof. Put $r = 1$ in Catalan's identity obtained, we get the Cassini's identity.

Theorem 3.5 (d'Ocagne's identity). If m and n are positive integers, and $m > n$ then

$$g_{k,m} g_{k,n+1} - g_{k,m+1} g_{k,n} = (-1)^n k^n P_{k,m-n} [k^2 - 10k + 5]$$

where $P_{k,m-n}$ is k -Pell Sequence.

Proof. Applying $\alpha\beta = -k$ and Binet's formula (7)

$$\begin{aligned} g_{k,m} g_{k,n+1} - g_{k,m+1} g_{k,n} &= \frac{(k-2\beta-1)(k-2\alpha-1)}{(\alpha-\beta)(\alpha^m \beta^n - \alpha^n \beta^m)} \\ &= (-k)^n [k^2 - 10k + 5] \frac{\alpha^m \beta^n - \alpha^n \beta^m}{\alpha - \beta} \\ &= (-1)^n k^n P_{k,m-n} [k^2 - 10k + 5] \end{aligned}$$

using (4) the Binet's k -Pell Sequence formula.

Theorem 3.6 For positive integers $k = 1, 2, 3, \dots$ and integer $n \geq 0$, $\lim_{n \rightarrow \infty} \frac{g_{k,n+1}}{g_{k,n}} = \alpha$ which is a root of the equation $x^2 - 2x - k = 0$.

Proof.

$$\begin{aligned}
\lim_{n \rightarrow \infty} \frac{g_{k,n+1}}{g_{k,n}} &= \lim_{n \rightarrow \infty} \frac{\alpha^{n+1}(k-2\beta-1) - \beta^{n+1}}{\alpha^n(k-2\beta-1) - \beta^n} \\
&= \lim_{n \rightarrow \infty} \frac{\alpha^{n+1} \left[1 - \frac{\beta^{n+1}(k-2\alpha-1)}{\alpha^{n+1}(k-2\beta-1)} \right]}{\alpha^n \left[1 - \frac{\beta^{n+1}(k-2\alpha-1)}{\alpha^{n+1}(k-2\beta-1)} \right]} \\
&= \lim_{n \rightarrow \infty} \frac{\alpha \left[1 - \frac{\beta^{n+1}(k-2\alpha-1)}{\alpha^{n+1}(k-2\beta-1)} \right]}{\left[1 - \frac{\beta^{n+1}(k-2\alpha-1)}{\alpha^{n+1}(k-2\beta-1)} \right]}
\end{aligned}$$

since $\left| \frac{\beta}{\alpha} \right| < 1$ then $\lim_{n \rightarrow \infty} \left(\frac{\beta}{\alpha} \right)^n = 0$ we get,

$$\lim_{n \rightarrow \infty} \frac{g_{k,n+1}}{g_{k,n}} = \alpha.$$

The following are some properties of Generating functions for the Generalized $n^{th}k$ -Pell Sequence.

Theorem 3.7 Let m and n be the positive integers and $g_{k,n}$ Generalized $n^{th}k$ -Pell Sequence. The following equalities are valid:

1. $\sum_{n=0}^{\infty} g_{k,n+1} x^n = \frac{k+2kx-1}{1-2x-kx^2}$
2. $\sum_{n=0}^{\infty} g_{k,mn} x^n = \frac{2+P_{k,m}(kx-x)-2xP_{k,m+1}}{1-x(\alpha^m+\beta^m)+(-1)^m k^m x^2}$
3. $\sum_{n=0}^{\infty} g_{k,mn+r} x^n = \frac{\begin{pmatrix} P_{k,r}(k-1)-(-1)^m k^m \\ (k-1)P_{k,r-m}+2kP_{k,r-1} \\ -2x(-1)^{m+1} k^{m+1} P_{k,r-m-1} \end{pmatrix}}{1-x(\alpha^m+\beta^m)+(-1)^m k^m x^2}$
4. $\sum_{n=0}^{\infty} g_{k,2n} x^n = \frac{2-10x}{1-4-2kxx+k^2x^2}$
5. $\sum_{n=0}^{\infty} g_{k,2n+1} x^n = \frac{x+k+4xk-k^2x}{1-4-2kxx+k^2x^2}$

Where $P_{k,r}$ is k -Pell Sequence.

Proof. 1. By applying Binet's formula (7)

$$\begin{aligned}
\sum_{n=0}^{\infty} g_{k,n+1} x^n &= \sum_{n=0}^{\infty} \left[\frac{\alpha^{n+1}(k-2\beta-1) - \beta^{n+1}}{\alpha - \beta} \right] x^n \\
&= \left[\frac{\alpha(k-2\beta-1)}{\alpha - \beta} \sum_{n=0}^{\infty} \alpha^n x^n - \frac{\beta(k-2\alpha-1)}{\alpha - \beta} \sum_{n=0}^{\infty} \beta^n x^n \right] \\
&= \frac{1}{(\alpha - \beta)} \left[\frac{\alpha(k-2\beta-1)}{(1-\alpha x)} - \frac{\beta(k-2\alpha-1)}{(1-\beta x)} \right] \\
&= \frac{k(\alpha - \beta) + 2kx(\alpha - \beta) - (\alpha - \beta)}{(\alpha - \beta)(1 - x(\alpha + \beta) - kx^2)} \\
&= \frac{k + 2kx - 1}{(1 - 2x - kx^2)}
\end{aligned}$$

Similarly, by using of Binet's formula given in (7), 2., 3., 4., 5. can be shown.

Theorem 3.8 For arbitrary integers $m, n, j \geq 1$ and $j \geq m + 1$, we get:

$$1. \quad \sum_{i=0}^n g_{k,mi+j} x^n = \frac{\begin{pmatrix} (k-1)[(-1)^m k^m \\ (P_{k,mn+j}-P_{k,j-m}) \\ -P_{k,mn+m+j}+P_{k,j} \\ +2k[(-1)^m k^m (P_{k,mn+j-1}- \\ P_{k,j-m-1})-P_{k,mn+m+j-1} \\ +P_{k,j-1} \end{pmatrix}}{1-(\alpha^m+\beta^m)+(-1)^m k^m}$$

$$2. \quad \sum_{i=0}^n g_{k,mi} x^n = \frac{\begin{pmatrix} (k-1)[(-1)^m k^m \\ P_{k,mn} - P_{k,m} - P_{k,mn+m} \\ 2[1+(-1)^m k^{m+1} P_{k,mn-1} \\ - P_{k,m+1} - P_{k,mn+m-1} \end{pmatrix}}{1 - (\alpha^m + \beta^m) + (-1)^m k^m}$$

$$3. \quad \sum_{i=0}^n g_{k,i+j} x^n = \frac{\begin{pmatrix} (k^2+k)[P_{k,n+j} - P_{k,j-1}] \\ + (k+1)[P_{k,n+j+1} - P_{k,j}] \\ + 2k^2[P_{k,n+j-1} - P_{k,j-2}] \end{pmatrix}}{k+1}$$

Where $P_{k,r}$ is k-Pell Sequence.

Proof. 1. Applying $\alpha\beta = -k$ and Binet's formula (7)

$$\begin{aligned} \sum_{i=0}^n g_{k,mi+j} &= \sum_{i=0}^n \left[\frac{\alpha^{mi+j}(k-2\beta-1) - \beta^{mi+j}}{\alpha - \beta} \right] \\ &= \left[\frac{\alpha^j(k-2\beta-1)}{\alpha - \beta} \sum_{i=0}^n (\alpha^m)^i - \frac{\beta^j(k-2\alpha-1)}{\alpha - \beta} \sum_{i=0}^n (\beta^m)^i \right] \\ &= \left[\frac{\alpha^j(k-2\beta-1)(\alpha^{mn+m} - 1)}{(\alpha^m - 1)(\alpha - \beta)} - \frac{\beta^j(k-2\alpha-1)(\beta^{mn+m} - 1)}{(\beta^m - 1)(\alpha - \beta)} \right] \\ &= \frac{\begin{pmatrix} (k-1)[(-1)^m k^m \\ (P_{k,mn+j} - P_{k,j-m}) \\ - P_{k,mn+m+j} + P_{k,j} + \\ 2k[(-1)^m k^m (P_{k,mn+j-1} - \\ P_{k,j-m-1}) - P_{k,mn+m+j-1} \\ + P_{k,j-1} \end{pmatrix}}{1 - (\alpha^m + \beta^m) + (-1)^m k^m} \end{aligned}$$

Using (4) the k-Pell Sequence Binet's formula. Similarly, 2. and 3. can be demonstrated by applying Binet's formula, which is provided in (6).

Conclusion

A new Generalized n^{th} k-Pell Sequence has been presented and examined. This sequence generating functions and other attributes are inferred. In the future, we think that it can be found many more properties of these Generalized n^{th} k-Pell Sequence.

Acknowledgement

The authors would want to convey their sincerely thank the editor and referees for their many insightful recommendation on how to make the current work better.

References

1. Dasdemir, (1988). On the Pell, Pell-Lucas and Modified Pell Numbers by Matrix Method. Applied Mathematical Science, 5(64), 3173–3181.
2. Aydin F. T. (2020). Circular-hyperbolic Fibonacci Quaternions. Notes on Number Theory and Discrete Mathematics, 26(2), 167–176.
3. F. Horadam, (1996). Jacobsthal Representation Numbers. Fibonacci Quarterly, 34, 40–54.
4. A. F. Horadam, (1988). Jacobsthal and Pell Curves. Fibonacci Quarterly, 26(1), 79–83.
5. A. F. Horadam, (1971). Pell identities. Fibonacci Quarterly, 9(3), 245–252.
6. Catarino P., (2013). On Some Identities and Generating Functions for k-Pell Numbers. Int. Journal of Math. Analysis, 7(38), 1877–1884.
7. Catarino P. & Vasco P., (2013). Some basic properties and a two-by-two matrix involving the k-Pell Numbers. Int. Journal of Math. Analysis, 7(45), 2209–2215.
8. Catarino P. & Vasco P., (2013). Modified k-Pell Sequence: Some Identities and Ordinary Generating Function. Applied Mathematical Science, 7(121), 6031–6037.
9. C. Levesque (1970). On m-th Order Linear Recurrences. Fibonacci Quarterly, 23(4), 290–293.

10. E. Ozkan, T. Merve, & A. Aysun (2021). On the new Families of k-Pell Numbers and " k-Pell-Lucas Numbers and Their polynomials. J. of Contemporary Applied Mathematics, 11(1), 16–30.
11. Feinberg, M. (1963). Fibonacci-Tribonacci. Fibonacci Quarterly, 1(3), 70–74.
12. R. Lather (2015). International Journal Computer Applications, 128(14),
13. Spickerman, A. (1982). Binet's formula for the Tribonacci sequence. Fibonacci Quarterly, 20(2), 118–120.
14. S. Falcon & A. Plaza (2007). The k-Fibonacci sequence and the Pascal 2-triangle. ' Chaos, Solitons, Fractals, 33(1), 38–49.
15. S. Falcon (2011). On the k-Lucas numbers. ' Int. J. Contemp. Math. Sciences, 1(2), 1039–1050.
16. S., Uygun & H. Eldogan (2016). Properties of k-Jacobsthal and k-Jacobsthal Lucas Sequences. Gen. Math. Notes, 1(2), 34–47.
17. T. Koshy (2001). Fibonacci and Lucas Numbers with Applications. A Wiley-Interscience Publication, 1(2).
18. T. Koshy (2014). Pell and Pell-Lucas Numbers with Applications. Springer-Verlag New York, USA.

